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Before attempting the question paper, kindly check your
Question Booklet(QB) and O.M.R. Answer Sheet and ensure
that:
- Serial number of Question Booklet{QB) and OMR Answer
Sheet is same.
- All pages and all questions are properly printed
In case of any discrepancy/defect, the candidate should
immediately report the matter to the Invigilator for replacement
of Question Booklet(QB) and OMR Answer Sheet. No claim/
objection in this regard will be entertained after five minutes
of start of examination, candidate will be liable for the same.
STHHIT FA—u= & 4w o e g g
Read all instructions on the reverse of OMR Answer Sheet.
SUHH TS T hael Al diel G1ee U %1 TR 61 | HIAT,
STHA TTAL—T5TH | 39T TS AaY A =T ST 9t & 9
Gl
On OMR Answer Sheet. use blue ball point pen only. Please,
fill your Roll No. and other information correctly in OMR
Answer Sheet.
qfe ferdl wsT % 0 s § aifirss IO sifeha o o & & 39 T
AL AT SR
If more than one response is marked for a question, it would be
treated as wrong answer.
Yee TEd AT BT UG @ik 1 1/3 WA HI2T S| T IO o
drerd $15[E IO a1 R usT % U § it T A ¥
1/3 part of the mark(s) of each question will be deducted for
each wrong answer. (A wrong answer means an incorrect answer
or more than one answers for any question).
g g W o fehed et & | geel = fssea/ i (A), (B), (C)
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Each question has five options/circles. First four options/circles
(A), (B), (C) and (D) are related to appropriate answer and
fifth option/circle *(E)" is related to “Question not attempted’.
HEN T T & 70 STva4T B HUH.ST. TAT—T= 9T Hate
U HE & ged =@ fa@ed (A), (B), (C) @t (D) ¥ ¥ Faw U
T/l &I et afe e U & 9 e afE st e ued
T IT el 447 |iEar & o gias feed/ie ((E) @l e s
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until you are asked to do so.

To indicate the correct answer, the candidate has to fill in
only one option/circle (A), (B), (C) or (D) with blue ball
point pen for respective question number on the OMR
Answer Sheet. If the candidate does not want to answer any
question then the fifth option/circle *(E)” should be darkened.
afe uie ferehed § @ w12 Y Fresea e e =€l fopan T 4t we
%1 /397 3ie ®re foran s

1/3 part of the marks will be deducted for the questions, if
none of the option/circle are darkened.
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e TE foRar T A o9 Tlien % fg e =i &
ST

If a candidate leaves more than 10 percent questions or does
not darken any of'the five options, he/she will be disqualified
for the exam.

AR T T W o 10 HH 4 HH U Frehed /T w1 & 91 8
7% gifyaa B % fe 10 foe st o )
Candidate will be given 10 minutes extra to make sure. if
he/she has filled up any one option/circle for each questions.
qfe W o e AT ST TEBI0T H 01 T ALATHES Tl Dl 141
1 TR %! GTRASZ[TTeTl| €, 1 SIsil HEBIvT Bl S A1 1|
If there is any sort of ambiguity / mistake either of printing
or factual in nature in Hindi or English version of questions.
then the English Version will be treated as final.
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Use of Mobile Phone / Bluetooth Device or any other
electronic gadget in the examination hall is strictly prohibited.
If any such prohibited material is found with any candidate.
strict action will be taken against him/her as per rules.
A Ay B ererdl Tehd B gU U™ S € A1 efad adeh
A Y U1 S & AT S8 T HIE aIagd @l I S 8l
sudk faes gfew Rem ¥ wk.ad.ent. gt & sl ot 98 Ty
At wien st 2022 o deiem sifafrm 2023, (adf §
FAFET BTG I HATH o6 AT & Tod TehaH1 Fell & 8 FJTiardl
2 fret 10 ad § st wroam a4 1 B8 99 S IaHE & 130
S I wfere & wviT alaat F @Rl 'Y { fEfia o fma o ama s
Warning : I a candidate is found copying or using unfair means
or if any unauthorized material is found in his’her possession,
F.L.R will be lodged against him/her in the Police Station and he/
she would be liable to be prosecuted under State Public
Examination (Measures for Preventions of Unfair Means in
Recruitment) Act. 2022 and Amendment Act 2023. The act has
provisions of imprisonment of 10 years to life and fine up to T 1
crore. Board may also debar him/her permanently from all future
examinations conducted by the Board. -
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1 Which of the following methods is not used for underground cables?
(A) Direct Laying (B) Solid System
(C) Draw-in System (D) Semi-solid System
(E) Question not attempted
qftrra haw fyem & o = & o fem fafy & soam Rear smar &7
(A) vwae fewmr (B) 31 Worrer
(C) 313 wumenn (D) o3 woTTel
(E) agaf@ us

2 Which of the following statements is NOT correct?

(A)
(B)
©)
(D)

(E)

The total resistance in a series circuit is equal to the sum of the individual resistances
around the series circuit.

The voltage across the parallel circuit is the same as the supply voltage.

The current will not be the same at any point of the series circuit.

In a parallel circuit, the reciprocal of the total resistance is equal to the sum of the reciprocals
of the individual branch resistances.

Question not attempted

frafafad & & wF—a1 HuT el TEl &7

(A)
(B)
(©)
(D)

(E)

TH @l Giwe ¥ FA UG F@AT Wihe & @A S AfRETd Graddl & a6 & gl 5
T Gz § s Syfd diees & THE 2

el |ihe ® fre o fig v g wwe @ R

T THHGR Fithe ¥, HA AT BT ForH AfeTa STEr Uiare % ok % I % FUET war
2

HIART 9

In the following circuit value of V=220 V., Values of Resistors R; = 100Q2, R, = 55Q2,

R; =40Q and R, =200Q then applying Kirchhoff’s First Law, find the current I}, I,, I3, I4
and I respectively.

frefefad @fthe & V=220 V & @M, wfadret & 99 R, = 100Q, R, = 55Q ., Ry = 40Q &R

R4:

(A)
(B)
(®)
(D)
(E)

E4L3E-Y122] »)- 2

200Q Y fortats & vea fram @ @ w8, 9w 1), L, I, I, o 1 #Hen o &l

R
i I.R?

| }

-t M :
e |
%-{ 7 -

f
L=21AL=41AL=54A1=12A1=128 A
[ =21A L=41AL=55A;=11A1=128A
[[=20A, L, =40A,3=56A,1;,=12A,1=128 A
I, =22A, 1, =40A, ; =55A, ;=11 A, I=128 A

Question not attempted / START He
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4  The SI unit of solid angle is

(A) Steradian (B) Radian
(C) Degree (D) Meter
(E) Question not attempted
o9 IV % TESTE HEh o1 Bidl & 7
(A) wufEaa (B) ifegw
(C) feir (D) #rX
(E) omana usd
5 Which of the following wire is used as a safety measure?
(A) Live wire (B) Neutral wire
(C) Earth wire (D) Normal wire

(E) Question not attempted
= & § B8 I) UH GIe IU™ @ aie WA fean o § 7

(A) fag= ar (B) TE™H aX
(C) syeufdha ar (D) s AR
(E) ergafa wed

6 In our houses we receive AC electric power mainly at
(A) 120V (B)y 220V
(C) 240V (D) 150 V
(E) Question not attempted
=9 o u § gearedn faga s gen: IT YT @A © |
(A) 120 9 (B) 220 9w
(C) 240 diee (D) 150 4w
(E) srgaia usd

7 What is the function of Field Supply Unit (FSU) in DC drive?
(A) Produces required firing current to the firing circuit
(B) Provides a constant voltage to the field winding of motor
(C) Provides a constant voltage to the armature of the motor
(D) Provides variable voltage to the field winding of motor
(E) Question not attempted
DC 39 & wies g@g gz (FSU) &1 @& & &7
(A) wEfar gibe & o smasas w@afar i SO &ir &
(B) HX @1 Wite aEfET & th Friat dieest yem & &
(C) HreX & e & e Gt aees WeM &l &
(D) X @I Hies AERET B IREdE dwes Y& BT §

(E) ofgara ued
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8 Substances, which at room temperature, retain their ferromagnetic property for a long period of
time are called

(A) Permanent magnets (B) Temporary magnets
(C) Small magnets (D) Large magnets
(E) Question not attempted
3 wEre S g A9 WY @ 899 & Y | gEda O S 8, FHEA
(A) = g9 (B) ormdr gaw
(C) BR ga% (D) == g%
(E) oaRa wed
9 The pole near the geographic north pole of the Earth is called the magnetic pole.
(A) North (B) South
(C) East (D) West
(E) Question not attempted
I ga o gT & Hiiiae Sl g9 & Fee Yaod gd Hea &l
(A) T (B) sfeol
(C) i (D) ufyed
(E) organa ws
10  The rating of a transformer is expressed in terms of
(A) kVA (B) Watt
(C) RPM (D) Degree

(E) Question not attempted
BT @ T & fpad =re fpam St # 7

(A) 4T (B) =
(C) amdmH (D) fe&i
(E) organa wed
11 ELCB is
(A) Earth Leakage Current Breaker (B) Earth Leakage Component Breaker
(C) Earth Leakage Control Breaker (D) Earth Leakage Circuit Breaker
(E) Question not attempted
Suadidr &1 ot w9 @ § 7
(A) o1 AHsT HE THT (B) o1 Wb HuMe ST
(C) 1 wips i ST (D) @9 Wb afbe SBT
(E) e wed
12 Full form of MCB from the following is -
(A) Minimum Circuit Breaker (B) Miniature Current Breaker
(C) Miniature Circuit Breaker (D) Maximum Current Breaker

(E) Question not attempted
=1 & & MCB &1 g1 -1/ % :

(A) faf afde @t (B) fifrwex &t 3¢
(C) Tafvoar afbe s&t (D) #feraaq &= 9T
(E) organa us
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13 Which of the following color of wire is used for earthing purpose in wiring?
(A) Red (B) Black
(C) Green (D) Blue
(E) Question not attempted
rareT § e % Ty 7 § 9 @F-8 1 & a) vgE fear s 87

(A) @ (B) @ran
(C) =1 (D) e
(E) argana ws
14  Which of the following is not an advantage of hydroelectric power plant?
(A) No fuel requirement (B) Low running cost
(C) Continuous power source (D) No stand by losses

(E) Question not attempted
frrafafad & & F-a1 TS g4 &1 a9 TE § 7

(A) Fg9 B SmaTRAr TEl (B) =1 uftamas @mrd
(C) FrEx =1t @4 (D) =3 afafa Jewam T2
(E) ergara wed

15  The magnitude of the induced emf in a circuit is equal to the time rate of change of magnetic
flux through the circuit. This law is known as -
(A) Ohm's law (B) Lenz's law
(C) Faraday's law (D) Kirchhoff's law
(E) Question not attempted

W e aes @ &1 afET deae wew ® 999 % @9 €9 9 afedd @ 9 & 93] ear ¢

T a7 -
(A) oW &1 FEw (B) ww @1 aw
(C) e @ fram (D) freas &1 fam
(E) &rgaia wed

16 The basic laws for analyzing an electric circuit are -
(A) Einstein's theory (B) Newton's law
(C) Kirchhoff's law (D) Faraday's law

(E) Question not attempted

ferega aftay w1 fagermor & & anurega frag ¥ -

(A) EEH @ fagia (B) =7 & Fram
(C) TrrEs & (D) U= & Fraa
(E) oaRa ved
17  Kirchhoff's voltage law is concerned with -
(A) IR voltage drops (B) Battery emf's
(C) Nodal voltage (D) Both IR voltage drops and Battery emf's
(E) Question not attempted
fohTas &1 dees e dafhd @ -
(A) IR 9w 9d g (B) =0 feraaws a &
(C) i=d dwest & (D) IR e urd & qe 23 frdarss 9 § a1 9§
(E) organa wsd
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18 Which of the following is a main element of climate?
1. Atmospheric Pressure 2. Winds
3.  Temperature 4.  Flood
Choose the most appropriate option from below:
(A) Only 1, 4 (B) Only 1, 2
(C) Onlyl,2,3 (D) Only 4
(E) Question not attempted
i & 9 S@arg & TY@ T B § 7
1. agAvsed oW 2. gEd
3. d9HEE 4. 9@
= o o gew sugE fawed g
(A) %Haw 1, 4 (B) o 1, 2
(C) waw 1,2, 3 (D) waw 4
(E) ergara ued
19  Brown Soils are found mainly in the following - (Choose most appropriate option from below)
1.  Tonk 2.  Bhilwara
3. Bundi 4. Udaipur
(A) Only 1, 2 and 4 (B) Only 1, 3 and 4
(C) Only 2, 3 and 4 (D) All1,2, 3 and 4
(E) Question not attempted
T gard gew: Pt ¥ wd o ¥ - (P ¥ @ 9o ovg Reew 99)
1. & ¥ 2. Hiwaret o
3. @t H 4. YR H
(A) ®aa 1,294 (B) &aw 1,394
(C) »aw@ 2,394 (D) | 1,2.394
(E) orgafa us
20  'Loharpura iron mining area’ is situated in which of the following district of Rajasthan?
(A) Bundi (B) Dungarpur
(C) Banswara (D) Nagore
(E) Question not attempted
o % frefafaa faat & & e, ‘@RRgy e @ & Rug 37
(A) & (B) 3T
(C) wigarst (D) TR
(E) oraita e
21 Barmer district falls under which agro-climatic division (zone) of Rajasthan?
AT e T % fhd Hi-wearg waer (8) & erria e & 7
(A) IB (B) IC
(C) 1B (D) TA

(E) Question not attempted / Igaid 9e
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22 When was Rajasthan Information Commission constituted?
(A) 1 April 2005 (B) 18 April 2006
(C) 8 April 2006 (D) 12 May 2008
(E) Question not attempted
ST AT SN B TS HY Gl 7

(A) 1 a¥a 2005 (B) 18 ariia 2006
(C) 8 s 2006 (D) 12 =\ 2008
(E) erara wed
23 Among the following against whom complain cannot be raised in Lokayukta institution?
1.  Accountant General, Rajasthan

2. Ministers, Rajasthan Government

3.  Retired Public Servant

4.  Mayors and Deputy Mayors of Municipal Corporations

5. Officers and employees of Rajasthan Assembly Secretariat
Choose the most appropriate option from below:

(A) Only 1,2 and 3 (B) Only 2 and 4

(C) Only 1, 3 and 5 (D) All'1,2,3,4and 5
(E) Question not attempted

Frafaied ® & fhadh o Armrgad de § RiwEa Tel @ S a0

1.  wEmEER, TR
2. TN, USRAH WIHR
3. qarivgd Wi deh
4. TR Tl & 7EUR T SUHEUR
5. oy fguEHr afered & eI ud wHer
= o o qed SugE fawed g
(A) Faw 1, 2 3T 3 (B) e 2 & 4
(C) &aw 1,3 &R S (D) |€r1,2,3.4385
(B) e w5

24  Lux is the unit of -
(A) Luminance (B) IMlumination
(C) Luminous intensity (D) Luminous flux
(E) Question not attempted
T foraa! 3 ¢ 7
(A) “HiferdTan (B) wéHIq
(C) TH®HIR drear (D) TH®HI garE
() orgaRa 5

25 Best practicable material for a fuse wire from the following is -
(A) Aluminium (B) Copper
(C) TIron (D) Alloy of Tin and Lead

(E) Question not attempted
WA a1 S & 7 IUERT @ WW 9l B § ¥ 999 3w gl § -

(A) ugftE (B) @Mt
(C) ema (D) fe1 &R @ @t Py urg
(E) orgaia usd
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26  Solar radiation is measured by using
(A) Pyranometer (B) Pyrheliometer
(C) Anemometer (D) Ammeter
(E) Question not attempted

g fafeetor &1 fpae Sugm § =97 Sr &7

(A) UEGHER (B) urEfearey
(C) T (D) TR
(E) ogafa wed
27  Primary function of a starter in a motor is
(A) To limit the starting torque (B) To limit the starting current
(C) To reduce losses (D) To run the motor in full speed

(E) Question not attempted

WX § WL & & HY a1 B &7

(A) omifhe semgel & it & (B) amifes &y @l €ifdd &
(C) = &l &H &TAT (D) #HreX @ gof T 9x g
(E) orgaRa ws
28 Match Type of Lamp in Column I with its use in Column IL
Column 1 Column II
(Type of Lamp) (Use of Lamp)
1. A neon lamp a.  are used mostly for advertising purposes
2. Neon sign tube lamps b.  due to their higher efficiency, they are used for the

lighting of streets, railways, storage yards etc. They
are particularly suitable in fog, also.

3.  Sodium Vapor Lamp ¢. is generally used as an indicator lamp to indicate the
presence of supply. It gives a small quantity of light
and can also be used as a night lamp.

Few | ¥ &9 & g o1 wem 1 o Iuan & 9y e &l

Hiad 1 Frem 11
(a0 1 7EFR) (9 =1 Syam)
1. fram g a.  Ifea fasmoe yEeE % T SuanT fRar e ®
2. T 9+ =9 @ b.  ITHI IS IGAT F BV, ITHI SUANT HSHI, {@d, SO
e onfs @1 Ve & e frar omar &1 9 @ § o o
w7 ¥ UG B E
3. WIfEaw 9 oY c. MR YT YR @ IURUfT & IFE T & WY UE
Hhad ®9 % ©Y H SUANT fRar W ¥ 9% OiEr 5en A
AT AT & AT 3H 13 @9 b w9 F off swEw e o
o |
(A) 1-c, 2-b, 3-a (B) 1-b, 2-c, 3-a
(C) 1-c, 2-a, 3-b (D) 1-a, 2-b, 3-c

(E) Question not attempted / SaNa T

E4L3E-Y122] »)- 8 [ Contd...


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

29 Electronic multimeter measures -

(A) Voltage, current and resistance (B) Voltage and current
(C) Current and power (D) Energy and power
(E) Question not attempted
FoF2eh Hed ML -9l & —
(A) dieedl, 9w SR wiady (B) drwean ofiR &
(C) o &R g (D) =i 8t orfer
(E) orgaia usd
30 In transmission lines, the cross-arms are made of -
(A) Galvanized Steel (B) Wood
(C) R.C.C. (D) Plastic

(E) Question not attempted

O WA A, - oo B E -

(A) TS € % (B) w®Sr &
(C) emr#Ed. % (D) wfe®d &
(E) orgaia wsd
31  All nuclides with same mass number are called
(A) Isotopes (B) Isotones
(C) Isobars (D) Isotopes and Isotones both

(E) Question not attempted

g gt iy e geaae g g9 By E HEAd &

(A) @RS (B) ww=gzite
(C) wHHIS (D) EHE™E Ud FH=IME al
(E) organa wed
32  What is the main purpose of cross-arm used in electric poles?
(A) Supporting the line conductors (B) Holding the insulators on overhead line

(C) Avoids short circuit between conductors (D) Reduces conductor sag between supports
(E) Question not attempted
foqsTell & @i § YA [T S AT I H qed I5aed HT 8 7

(A) WEA OTdd Bl GET oA (B) VUl @l Aaies @39 U §91C @
(C) dreel & &g 9 afbe B9 & Teen (D) oreisl & 4/ died A B B BT
(E) ogafa g
33 East most point of Rajasthan is -
(A) 69°30'E (B) 78° 17 E
(C) 72°19'E (D) 30°12'E
(E) Question not attempted
TR B god g H Rud g ® -
(A) 69° 30" 4. (B) 78°17' 1.
() 72° 19'%; (D) 30°12'g.
(E) orgaia wed
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34

36

option from below)

(A)
(®)
(E)

o & 4 -9 5o 9 § gerd Tel ¢ ¢ (e A 8 99 suged fasen g)

Drip irrigation system
Deforestation

Question not attempted

(A) d5-4% R ol (zus )

(©)
(E)

(A)
(©)
(E)

TG ° e el frefafaa § § wAe few ay) § wwfeg 7
(B) =&, #
(D) T, B2

(A)
(©)
(E)

(A)
(©)
(E)

CEINCI R IT H

AR Ued

Sheep, Cow
Camel, Cow

Question not attempted

e, Mg

e, M

ARG A

BLV volts

BLV sin0 volts
Question not attempted

Titreba: U STACE HT G A E 7

(A)
(©)
(E)

BLV diee
BLV sin0 e

AR 9eT

frefafad & 8 dF-d sifveafed @81 T8l & 7

(A)
(B)
(©)
(D)
(E)

1 milli-volt = 1 mV = 1/1000 V=1 x 103 V

1 micro-volt = 1 pV = 1/1000000 = 1 x 10° V
1 megohm = 1 MQ = 10000000 =1 x 106 Q
1 kilo-volt = 1 kV = 10000 V =1 x 104 V

Question not attempted / ARG e

E4L3E-Y122] »)-

What is the formula for dynamically induced emf?

Which of the following expression is NOT correct?

10

GET IT ON
Google Play

(B) Dry farming techniques
(D) Rainwater harvesting

(B) %6 PN qHAS
(D) 9IuSE GUBT

(B) BL sin® volts
(D) BLV cos0 volts

(B) BL sin6 #iw=
(D) BLV cos0 g

Which of the following is not helpful in water conservation? (Choose the most appropriate

'Jamnapuri' and 'Lohi' breeds are related to which of the following animal respectively?
(B) Goat, Sheep
(D) Cow, Camel

[ Contd...
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38  Which of the following statement is NOT correct?
(A) A conductor is a material that has many valance electrons permitting electrons to move
through it easily.
(B) An insulator is a material that has few, if any, free electrons and resists the flow of
electrons.
(C) EMEF is the voltage available at the load.
(D) A semiconductor is a material that has some of the characteristics of both the conductor
and insulator.
(E) Question not attempted
frfafad & & BF-—a1 BT FEl To & 7
(A) UH HSHRT TH THI Ul & TTEH H3 dod FAa e & I gadgHl Bl STEEl | Ead B
P S o B
(B) U& 3g@X UH UE adl & foed @, afe B @1, g seagi B & oY guagl & yaTe @l
gy & £
(C) Zuauw i W Suwe e ¥
(D) ofeieme UH UEl GHUl ¢ TEH Hseet Sl 3g6el Al &l B fasvan B |
(E) ergafta v
39  Which of the following are non-conventional energy source?
1.  Solar energy 2. Tidal energy
3.  Natural gas 4.  Geothermal energy
5. biomass
(A) Only 1, 2 and 4 (B) Only 1, 3 and 5
(C) Only 2, 3 and 4 (D) All'1,2,3,4and 5
(E) Question not attempted
frafafed & @ &M I-aRuia St ad & ?
1. € st 2. &g Sl
3. wgide 19 4, AR Sl
5. «EME™
(A) Faw 1, 2 & 4 (B) &aw 1,3 & 5
(C) %aw 2,3 3 4 (D) &4 1,2,3,435
(E) &rgaia we
40 Power generated by Hydraulic power plant is based on
(A) Location of the plant (B) Efficiency of an alternator
(C) Specific weight of water (D) Quantity of water
(E) Question not attempted
ZEEIed ol 649 AR S Sl [he 9T FHT HE & 7
(A) 99 & WH W (B) @1ee{el &l q@dr 9
(C) w@ & fafdre 9 1 (D) W& & 9B 9
(E) orgaia ved
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41 The given symbol represents

A2

A1l

(A) Transistor (B) Diode
(C) SCR (D) DIAC
(E) Question not attempted

f&n Ty @ g9 & 7

A2

Al

(A) ZiTwex (B) =M
(C) ugdiR (D) - SrEuE
(E) organa wsd

42 Commonly used material in solar cell is
(A) Copper (B) Germanium
(C) Aluminium (D) Silicon
(E) Question not attempted
g o9 § g d) 9 fee aml @ s fear s # 7

(A) BT (B) swifram
(C) ughtras (D) Taferer
(E) orgafid e
43  The possibility of occurrence of corona in transmission line is maximum during
(A) Summer (B) Winter
(C) Humid weather (D) Dry weather
(E) Question not attempted
ZIEMHE @R BT 6 B Dl GHrE &% IR §Y S B #)
(A) s (B) wfeat
(©) o dhem (D) g Hrew
(E) organa wed
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44

(A) Rolling machine
(C) Shearing machine
(E) Question not attempted

GET IT ON
Google Play

(B) Air Compressor

Which type of machine in industries is provided with multi motor electric drive?

(D) Heavy duty electric drilling machine

SEMT # Al-ARY f9gd 359 & 91y 69 gerR A 78T UeH &I o ¢ 7

(A) fefT 73st=
(C) sfafar 79t
(E) ogafa wed

45 The symbol of the given machine is

46

47

A=A

(A) DC motor

(C) Induction motor

(E) Question not attempted
T man fa= fomean wiites &7

(A) 2 AR

(C) 3=F9M HIEX
(E) ergaid wed

will be

(B) TIT HUIR
(D) b = goifeeas fefeim Asfie

(B) AC Generator
(D) Synchronous motor

(B) wEl SR
(D) fshiFg AT

A 4-pole, 40 kW, 200 volts wave wound DC shunt generator, the current in each parallel path

4-gr@, 40 kW, 200 9iee 99 I8s ST 91 ST o, Udd YAl 99 § €T T I 9T B 7

(A) 25 A
(€) 200 A
(E) Question not attempted / TR ¥s

(A) Geothermal Energy
(C) Nuclear Energy
(E) Question not attempted

(B) 50 A
(D) 400 A

Which of the following is not ultimately derived from the Sun's Energy?

(B) Wind Energy
(D) Bio-mass Energy

Prer % @ @-ar o ad 2 ot @ T S ¥

(A) i Soi
(C) e st

(E) orgaRa ws

E4L3E-Y122] »)-
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48

49

51

52

GET IT ON
Google Play

The principal type of failure in wind power generation is in -

(A) Aerodynamic system

(C) Mechanical system

(E) Question not attempted

qE ol e H YHE WHR @l fdhedr § -
(A) =gt qomedt

(C) gl gome

(E) orgaRia usd

Who founded 'Jeevan Kutir' at Banasthali?
(A) Gokul Bhai Bhatt

(C) Jai Narayan Vyas

(E) Question not attempted

TTIAT § ST F &l @ AT @i ?
(A) Tigw w1 Wz

(C) <= =™

(E) ofgana e

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

Electrical system
Thermal system

faga gomar
ST e

Jugal Kishore Chaturvedi
Hiralal Shastri

T fReiT agaar
EREISENIE]

Who was the Jagirdar of Bijolia Jagir at the beginning of Bijolia Kisan Movement in 1897 A.D.?

(A) Rao Govind Das
(C) Rao Keshri Singh
(E) Question not attempted

(B)
(D)

Rao Prithviraj Singh
Rao Kishan Singh

1897 3. # fysiiferan fopam oricia @ &eTa & 9 fSelidrar SR T WRIRGET e o7 ?

(A) T = a™
(C) T weriifde
(E) ofgana ued

(B)

T YA

(D) e fremfte

Which independent dynasty was founded by Bappa Rawal in the area of Mewar in 8t Century?

(A) Sisodiya
(C) Guhil (Guhila)
(E) Question not attempted

(B)
(D)

Chauhan
Hada

FTedl JraTeT H 99T Uad | gars & ¥ fohg s et er @ Aig @i ?

(A) ToEEEr
(C) 7w
(E) ogana ued

(B)
(D)

e
BTl

The algebraic sum of voltages around any closed path in a network is equal to

H ead H fRdl 97 u¥ & Al S Aiees w1 S anTha H/T e ?

(A) 1
<€ 0
(E) Question not attempted / SaRd us

E4L3E-Y122] »)-
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53  Three resistors 2 Q.4 Q and 8 Q are combined in parallel. The total resistance of the combination
is

20,4Q X 8Q & I WRIUU® H THAT H ST TAT ¥ | 3H AW H FA e feaer g ?

7 8
(A) EQ ® -0
14 8
) —Q —Q
© 3 @ 3

(E) Question not attempted / Saftd 4s

54  What is the name of the part marked as X and Y respectively in the underground (UG) cable?

X Ly

(A) Conductor, Bedding (B) Paper Insulation, Armouring
(C) Conductor, Serving (D) Lead Sheath, Serving

(E) Question not attempted

qitrra (UG) e & %A X iR Y % &9 & fafed wmr &1 @7 = 2 7

(A) e, IFRET (B) U9 SGWE, WG
(C) dheaex, afam (D) s oftg, |fdm
(E) ergafa wed
55  Which insulating material is used as hot pouring compound for making joints in underground
cable?
(A) Epoxy cast resin compound (B) Bituminous compound
(C) Cast resin compound (D) Polyamine hardener

(E) Question not attempted

IAFTT daw | WS a9 & 7 T ST o s & ®9 W 6E TgAe™ G & I R S

t?

(A) TuTeT Bee I diftre (B) fuchra it
(C) @ I Aifis (D) UiMEET BT
(E) orgaia wed
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56  Which of the following statements is/are true -
Statement - 1 : 74 Constitutional Amendment Act makes provision for the formation of
metropolitan committee for planning in metropolitan areas.
Statement - 2 : No such committee has been formed in any metropolitan area of Rajasthan.
(A) Only Statement 1 (B) Only Statement 2
(C) Both Statement 1 and Statement 2 (D) Neither Statement 1 nor Statement 2
(E) Question not attempted
frafafeg & @ SREEAY o9 99 § -
FF - 1 : 749 GAuniies Fened orfafem § "emTiy &l & e % iU HeiE ST |ifd &
T HT Yrae AT T
FU - 2 : ORI % Rl o weig aw ® oE &g |iifa wfed T8 @ g )

(A) &I HoF 1 (B) %@ HuT 2
(C) =l ®waF 1 & %+ 2 (D) =Ff & § &g 7@
(E) ogaRia wed
57 Who was the first Chairperson of Rajasthan State Human Rights Commission?
(A) Justice Prakash Tatia (B) Justice Jagat Singh
(C) Justice Kanta Kumari Bhatnagar (D) Justice Mahesh Chandra Sharma

(E) Question not attempted
ST (o0 H9E STt SN & WIH o1eqe o 9/ ?

(A) =mafi yersr e (B) =t s e
(C) =amadfd w=aT AT HEARX (D) =l 9291 98 9
(E) &rgaid usd

58 When did Rajasthan Public Service Guarantee Act, 2011 come into force?
(A) 14 November 2011 (B) 1 November 2011
(C) 30 November 2011 (D) 26 November 2011

(E) Question not attempted
TSI @b dar M erfufras, 2011 w9 @r] gan?

(A) 14 7&sT 2011 (B) 1 =dsT 2011
(C) 30 ==st 2011 (D) 26 ==t 2011
(E) argaia ged
59 As temperature increases, resistivity of a metal
(A) Decreases (B) Decreases linearly
(C) Decreases exponentially (D) Increases

(E) Question not attempted
Y-S A T €, S99 =g Bl yiRrEesan

(A) &9 Tl W (B) I@® w9 § &H &l ol @
(C) dTYEE@ &9 ¥ &9 &l S & (D) sedr S &
(E) erafa wed
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60 Step down transformer is classified based on

(A) The operating frequency (B) The application
(C) Transformation ratio (D) Shape of the core
(E) Question not attempted

VY ST ZAHHT Bl & ST T it fepam e ¥ |

(A) FawE sgha (B) W&

(C) ufome srud (D) &R & BRI

(E) oraia ed

61 What is the function of power controller in drive circuits?

(A) It sounds an alarm in no load conditions.

(B) It detects the overloading condition of motor.

(C) It reduces motor current during transient operation.
(D) It maintains the torque at low voltage conditions.
(E) Question not attempted

$Ed e A AT dHgeX & w1 FE 87

(A) uE fo @irs @t Rufy & o™ swim@n 71

(B) T HIeX &l Siaxaie Ryt &1 gar @mer |

(C) Tz &fors daTee & S AT HiZ @l T Bl &
(D) =& &9 deed @l Rufq & 21k &l 9917 @ 2|

(E) erara ved
62 Why is the armature core of a DC generator laminated?
(A) Reduce the copper loss (B) Reduce the friction loss
(C) Reduce the hysteresis loss (D) Reduce the eddy current loss

(E) Question not attempted

T Sl ST % AHE BT Dl abe /i fhar S & 7

(A) T B B & B & G (B) =dvT & & &H H & [0
(C) 9ftreg &+ & &9 &1 % fog (D) ¥ay 9T & B & B & {0
(E) ergaiid 9ed

63 Type of winding used in small motors
(A) single layer mush winding (B) single layer lap winding
(C) single layer wave winding (D) double layer wave winding

(E) Question not attempted
B At ¥ o UB & e B SuEnT fRar S & 7

(A) THE TAR g9 FSE (B) Uhw WAL @9 FHIer
(C) TuHhe @aX 99 e (D) 3 WX 99 HIad
(E) argaitd usd
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64

66

67

In underground cable, voltage stress is maximum at

(A) Sheath (B) Surface of the conductor

(C) Core of the conductor (D) Armour
(E) Question not attempted

iFTd Had ¥, diees yfdad 999 oifid wel gar & 7

GET IT ON
Google Play

(A) STTET 9T (B) e & gde U

(C) ded & BT I (D) &t T

(BE) emaf@ us

In electrical wiring system, all appliances are connected in

(A) Parallel (B) Series

(C) Series-parallel (D) End to end

(E) Question not attempted

foga amaftr fem &, sl dfdhe . # 93 3@ )

(A) FHIET (B) gmft

(C) gof-—gwiat (D) fav 3 fat

(E) orgaia ved

Which of the following is not a goal of 'Desert Development Programme' (DDP)?
(A) Control on Desertification (B) Promotion to Afforestation
(C) Over Exploitation of Minerals (D) Resource Development

(E) Question not attempted

e & @ @ o TgauEe wm (S8 d) & @eg T8t

(A) HEIARTOT qT rasor (B) g @l Fi@mEd
(C) it @1 sifa foadies (D) wwrest @ fawm
(E) orgafa 9

Which of the following rivers are flowing nearby the fort of Gagron?
1.  Aahu 2. Kalisindh

3.  Bamni 4.  Parwan

(A) Only 1 and 2 (B) Only 1 and 4

(C) Only 2 and 3 (D) Only 2 and 4

(E) Question not attempted

frfafaa 7feal & & dF-d TR & e % TE | aEdl €7

1. @m® 2. @y
3. s Al 4.  UTEq
(A) Haa 1 g2 (B) ®ad 19 4
(C) w243 (D) %o 2 9 4
(E) erafd 9ed
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68

69

70

What is smothering in extinguishing of fire?

(A) Adding the fuel element to the fire

(B) Removing the fuel element from the fire
(C) Using of water to lower the temperature
(D) Isolating the fire from the supply of oxygen
(E) Question not attempted

AT Bl A THY TR B F7 o § 7

(A) & ¥ 39 a Bl Sie

(B) &M § e O B AT BT

(C) QMUHE B B9 H & [T THT BT IYAAT HEAT
(D) T W TGS Bl AT H AT HLAT

(E) orgafa usd

The forbidden energy gap for germanium is

st % foag it St siaoe @ & ?

(A) 0.12 eV (B) 0.72 eV
(C) 1.11 eV (D) 1.52 eV
(E) Question not attempted / i=fta We7

GET IT ON
Google Play

Match Type of Capacitor in Column I with its Capacitance & Application in Column IL.

Column 1 Column II

(Type of Capacitor) (Capacitance & Application)

1.  Metallized polypropylene  a. 0.001-1 uF — Entertainment, electronics
2. Polyester b.  330pF-0.05uF — High Frequency

3.  Mica c. 10-365pF — Broadcast receivers

4. Air d.  4-60uF — AC Motors

Hiad | § HURET & 9B Bl Hiad 11 § 8@ Huieed ofit ufdey & arg e
Fiem 1 Frem 11

(e % W) (rufada it ofwehem)

1. oggd glendamEae a.  0.001-1pF — #¥RSH, oo

2. gifet b.  330pF-0.05uF - 3= amgha

3. WYum c.  10-365pF — yamvy fgax

4. g d.  4-60uF — udr A"

(A) l-a, 2-b, 3-c, 4-d (B) 1-b, 2-d, 3-a, 4-c

(C) 1-d, 2-a, 3-b, 4-c (D) 1-c, 2-b, 3-d, 4-a

(E) Question not attempted / AR UsT
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71  The resistor value in delta network is equivalent to star containing three resistors. What will be

the value of each resistor?

e HZgs o URT & A9 OF IEd 9 ®R % 906 & Udd Uiy & 7 4T B 7

R 3

20 =
(A) 2 (B) 2 Q
(C) 3RQ D) RQ

(E) Question not attempted / 3TT e

72 CRO cannot be used to measure

(A) Current (B) Frequency
(C) Resistance (D) Voltage
(E) Question not attempted

GrATet &1 I9AT 39 o fhe "ow & fou @ fopam o "ear ?

(A) &ra (B) emgf
(C) whrtg (D) e
(E) sgafa ged

73 A 100 kVA, 2400/240 V, 50 Hz transformer has 300 turns on the secondary winding. Calculate

the approximate value of primary current.

100 kVA, 2400/240 V. 50 Hz giawR & faxiae dsem § 300 ot €1 e 9 &1 Maead 79 a9
EaiE

(A) 41.7 mA (B) 41.7 A

(C) 417 A (D) 0.417A

(E) Question not attempted / Saf@ yed

74 Burden of a Current Transformer is expressed in terms of

(A) VA rating of a transformer

(B) impedance of secondary winding circuit

(C) current in secondary winding circuit

(D) power and power factor in secondary winding
(E) Question not attempted

TR ZEHHT & AT B % dadt & = fear S #)
(A) ZEBET B g AT

(B) fedras Feaw afee &1 ufqamen

(C) fiirad gsaw afee & gma

(D) fadra® Feaw & v &t wE heaex

(E) orgafa g
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75  Amagarh Leopard Conservation area is located in - (Choose most appropriate option from below)
(A) Karauli (B) Jaipur
(C) Sawai Madhopur (D) Jhalawar
(E) Question not attempted
ANTG WIS TR &5 oanyd & — (i & & 999 Suged oaX g)

(A) e o (B) smgx ¥
(C) w§aTg HrengY o (D) wamETs o
(E) ofgana e

76  Which Wildlife sanctuary is located on the banks of Parwan river?
(A) Phulwari ki Nal Sanctuary (B) Shergarh Sanctuary
(C) Sajjangarh Sanctuary (D) Sitamata Sanctuary

(E) Question not attempted
XA &I % (HRI U -1 s AR Rd & 7

(A) AT @l T ARG (B) <6 AT
(C) w o Te STHATY (D) AT ST
(E) argafid usd
77  Match Electronic Device in Column I with its specification in Column II.
Column 1 Column II
(Electronic Device) (Electronic Device Specification)
1. SCR a. can control the circuit in either direction.
2. DIAC b. is a Voltage controlled device with three terminals -

Gate (G), collector (C) and emitter (E) and used for
inverter and chopper circuits.

3.  TRIAC cy is a bidirectional switching device and used as trigger
device.
4. IGBT d. is used as switching device, does the function of

controlled rectification.

Fewm 1 § seazi~en fsasg &1 e wem 11 & 396 fafesm § &

A | e 11
(zerriive feamzq) (zoragitve faem ¥ ffE)
1. SCR a.  fodr o faen & wihe @ PRI S g ¥
2. DIAC b. & =Rl — e (W), werdeT (@) o uhex () & 9™
T deesl AR SUBIOT ¥ SN 3HET IUANT e ot
Tix afde & fore fmar stmar )
3.  TRIAC c. fTefesha Rafdn feam ¥ ot o Reaga % wv & swam
fopar e ®)
4. IGBT d. faftr fsaee & =0 & swam fear smar #, Frifa gar @
B BT B
(A) 1-d, 2-c, 3-a, 4-b (B) 1-b, 2-d, 3-a, 4-c
(C) 1-a, 2-¢, 3-b, 4-d (D) 1-c, 2-b, 3-d, 4-a

(E) Question not attempted / SgaRd ws
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78  Which of the following statement/s is/are most appropriate based on transformation ratio?

L In Step-up transformer the induced secondary voltage is higher than the source voltage
given at primary.

II.  In Step-down transformer the induced secondary voltage is lower than the source voltage
given at primary.

IMI.  The induced secondary voltage is same as that of the source voltage given at primary for
isolation transformer.

(A) Only III is correct (B) Only I and II are correct

(C) Only I is correct (D) All L, I and III are correct

(E) Question not attempted

IR SO % oMY WY Frefaiad § @ dM-9)d BU daidd Sugdd s/e ¢

I wu-3m ZEer # I fedae diees mafis ot e 1o & aees 9 eifis 2 2

. ®u-sed zaer ¥ iR fadae s mafe w fw w a9 9w & &9 2@ 2

. uia fados aees g™ Zae™e & oy grafe u ffu 0 &g diees & 999 &1

(A) e 111 @81 & (B) Faw I ofx 1l w81 &
(C) %aa 1 &8 ¥ (D) @ L, 11 & 11 @& &
(E) argaf@ usd

79  What happens to the voltmeter if it is connected as an ammeter?
(A) Low reading (B) No deflection
(C) Meter burns out (D) Overshoot deflection

(E) Question not attempted
afy frdl dicediiet & AT % w7 B SIer O 8, df aeediel ¥ @ B e

(A) g &9 OfE feamm (B) za9 ®13 faremes <€ &
(C) 3T®T HIZX @O & |0 (D) =% sga ity fawms femmom
(E) oraid s

80  Which dance is performed in the desert region by the males of Mali, Sargada and Bheel community
on the occasion of marriage?
(A) Fire Dance (B) Geendar Dance
(C) Bam Dance (D) Dhol Dance
(E) Question not attempted
TEIA! & F BHA-F1 T A, ST 87R Hid sy & gesi g faarw & g e sar § 7

A) o 7 B) ez 7
(C) =97 (D) @iw J4
(E) organa wed
81 By whom and when was the epic named ‘Padmavat’ composed?
(A) Malik Mohammad Jayasi, 1540 (B) Jayanak, 1545
(C) Prithviraj, 1540 (D) Hammir Dev, 1542

(E) Question not attempted
USHTEd A% HeEhed i (Ol [hddh T Ud %a Bl g 7

(A) wfwes Fewa sy, 1540 (B) s, 1545
(C) g, 1540 (D) WX 34, 1542
(E) &rgaia wed
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82  Where is the “Naag Pahaad’ peak situated in Rajasthan?

(A) Mount Abu (B) Chittor
(C) Ajmer (D) Jodhpur
(E) Question not attempted

TR § 91T yETe’ 9ier el Ry &7

(A) HrET Sy (B) fais
(C) et (D) siege
(E) oraRa wed
83  Which part of the Indian Constitution is concerned with the Municipalities?
(A) Part IX-B (B) Part - VIII
(C) Part IX (D) Part IX-A

84

(E) Question not attempted

ARG AU o HE-A1 q TR § gEhad 7

(A) w1 - IX-B (B) wmm — VIII
(C) #m - IX (D) #m - IX-A
(E) orgara wed

recommendation to Governor of Rajasthan for devolution of funds?
(A) State Finance Commission (SFC)

(B) State Monetary Fund (SMF)

(C) Rajasthan Treasury Department (RTD)

(D) Rajasthan State Financial Corporation (RSFC)

(E) Question not attempted

Which of the following review the financial position of urban local bodies and make

frfafad & @ @9 el @wma faa o foda Rafy o wien s € 6 o7 & swiae & fog

ORI % TG &l AT ST & 7
(A) =g fom emam (TEusE)

(B) o dHifees fafy (Teee)

(C) oRI™ <ol feram (i)

(D) T Ty gk T (sTeauswEr)

(E) organa ued

85 Direction of rotation of DC motor is identified by
(A) Fleming’s right hand rule (B) Fleming’s left hand rule
(C) Lenz’s law (D) Electromagnetic induction

(E) Question not attempted

T HIeX % g @I fEem B ueAe fhud @ Wl ¥ 7

(A) BT &6 I¢ BTy & ew o (B) W % 910 &1 &% Mg g
(C) o & Freom & (D) faea ge@E X &
(E) erafa ued
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86

(A) Electrical energy
(C) Nuclear energy
(E) Question not attempted

A DC generator converts mechanical energy into

(B) Thermal energy
(D) Binding energy

.4 W gt St @ ¥ WU B &

(A) fae@ st (B) & &
(C) ~ifyeprg St (D) s St
(E) agaf@ us

87 Heating element is made up of

(A) Nichrome

(C) Silver

(E) Question not attempted
AT ufere feEd S BT & 7
(A) g

(C) fomax

(E) ergara wed

88  Type of switch used in stair case wiring is

(A) One way switch
(C) Float switch
(E) Question not attempted

(B) Copper
(D) Aluminium

(B) @Y

(D) Tt

(B) Two way switch
(D) Limit switch

il @ grafor § g yer & e @ suan fear ser ® °

GET IT ON
Google Play

(A) a9 9 f=g (B) z 9 Rew
(C) wre fag (D) fofie fea
(E) orgafea usd
89  What is Jhalawar's Kolvi village famous for?
(A) Ancient Buddhist Caves (B) Sun temple
(C) Jain Caves (D) Mitheshah's tomb
(E) Question not attempted
TS &1 bl Td g o ufeg #7
(A) e g T (B) ¥ #fex
(C) 9 T (D) Préeme &1 "aET
(E) &rgaia wed
90 Nibori, Thamania, Tulsi, Jugavali were the ornaments worn by the women on which part of the
body?
(A)y Hands (B) Feet
(C) Head (D) Neck
(E) Question not attempted
Frardy, erforen, qere, ST TSl ET T & RRE G OX RN ST & 7
(A) =™ (B) =
(€) fax (D) e
(E) organia wsd
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91 From which Harappan site given below has the evidence of furrowed field found?
(A) Kalibangan (B) Karoti
(C) Sothi (D) Nohar
(E) Question not attempted
o o fope sowH WA ¥ §d ¢ @d & yHT e ¥ 7

(A) wrerE (B) @i
(C) = (D) rex
(E) orgaia wed
92  Which of the following women is associated with Mewar Prajamandal Movement?
(A) Ratan Shastri (B) Laxmi Verma
(C) Krishna Kumari (D) Narayani Devi Verma

(E) Question not attempted
forefoiad & § B9 Afear J9E TESE SR o g § 7

(A) @ et (B) et amt
(C) Fwm Fa (D) ATl & aqut
(E) orgaia wed

93  Which of the following Princely States were integrated to form ‘Matsya Sangh’ during first
integration of Rajasthan?
(A) Udaipur (B) Alwar, Bharatpur, Dhoulpur, Karauli
(C) Bikaner, Jaipur, Jaisalmer, Jodhpur (D) Sirohi
(E) Question not attempted
= ¥ 9 #d fEwd, ToRaE & Ued U & AR, 99 Al §9OaA 91, 99 e g3 ¢

(A) TTFgR (B) omax, ¥Xayy, gy, Har
(C) MR, SEYY, SEaHy, JUgl (D) fazier
(E) oTgana e
94 When did the Neemach Rebellion breakout?
(A) 28t May, 1857 (B) 37 June, 1857
(C) 31t August, 1857 (D) 7t September, 1857

(E) Question not attempted

A § o w9 gen ?

(A) 28 w3, 1857 (B) 3 317, 1857
(C) 31 srra, 1857 (D) 7 faaaw, 1857
(E) organa wed

95 Ruknuddin was associated with which school of Rajasthani Painting?
(A) Bundi School (B) Bikaner School
(C) Mewar School (D) Jodhpur School

(E) Question not attempted
THIEM ST fosenen f fpg dell o Tvag o ?

(A) & S (B) €z Sl
(C) wars 9wl (D) wirEgR deit
(E) eorgafa wed
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96 What is (approx) the fusing factor for rewireable fuse?

UF: O A9 WIS & Y (FRTHRT) RIS e @r R 7
(A) Ll (B) 1.4
(C) 2.1 (D) 25
(E) Question not attempted / FTFART WeT

97  The capacity of a lead-acid cell is measured in

(A) Amperes (B) Ampere-hours
(C) Watts (D) Watt-hours
(E) Question not attempted

WE-URAS T DI G DI fHEH HIAT S g7

(A) Tufigax (B) uwhgaR—=en
(C) = (D) dre-HeT
(E) ergafa wed

98 What is the purpose of separator in lead-acid battery?

(A) To provide a path for electrolyte

(B) To hold the positive and negative plate firmly

(C) To avoid short in between the positive and negative plates
(D) To keep positive and negative plate in a sequence array
(E) Question not attempted

we-Ufes S A faWeTe 1 FT 3589 B 7

(A) IEHRIEEE & T 99 Yo BT

(B) g9 S FONHS W B IHSHL 1@

(C) s T FOHd T & Sig 91 Bl SamT

(D) &¥Toe S HIMEHE W SThH AT § 1@l

(E) oTgana s

99 "Sikka Elchi" was prevalent in which region?
(A) Matsya (B) Mewar
(C) Hadoti (D) Dhundhad

(E) Question not attempted

“Togent uadl”’ foeg @ § vafeaa o ?

(A) =& (B) wems
(C) =Er (D) o
(E) egaf@ wed
100 Which title was given by Aurangzeb to Anup Singh the ruler of Bikaner?
(A) Mahi Rakhab (B) Mahi Maratav
(C) Mahi Vijeta (D) Brat Sarav

(E) Question not attempted
B F M SUTHE B SIS T BH-El IUMY T Y 7

(A) H=El Ed (B) ww@l 5Oa9
(C) el fesrar (D) wa @q
(E) ofgana ued

E4L3E-Y122] »)- 26 [ Contd...


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

101 Match Type of cell in Column I with its specifications in Column II. (Choose most appropriate
option from below)

Column I (Type of cell) Column II (Specifications of cell)

1. A voltaic cell a. uses copper and zinc as the two electrodes and sulphuric
acid as the electrolyte.

2. Dry cell b. consists of a zinc container, as the negative electrode. In
the center is a carbon rod, as a positive electrode. The
electrolyte takes the form of a moist paste made up of a
solution containing ammonium chloride.

3. Alkaline cells e use a zinc container for the negative electrode and a
cylinder of manganese di-oxide for the positive
electrode. The electrolyte is made up of a solution of
potassium hydroxide or an alkaline solution.

4. Mercury cells d. The electrolyte used in this cell is alkaline and the
electrodes are of mercuric oxide (cathode) and zinc
(anode).

Hied [ H e & Yo Bl diad 11§ Igo! fafsmedet @ fard| (e § § 999 suged 3o g)

Fem [ (3 1 76R) w11 (F« @ fafiream)

1. 9wRES I a. @ 39S & ®Y A qE AR T AR I@FR@ES & 'Y H
TR UG9S &1 SUgrT & 2

2. O o b.  TEH WU WES & ®Y § Uh Nih beqy Er &1 By F B

g7 TAFLS b B H Uh HET S | TAFIARS STHITTEH
FAES I °9id o 9 79 U= & &9 o ar g

3. el g c. T Igde & fog e dene oft oN seadie & fu e
BE-ATFES & Udh [AosT &1 SUAN & | saaaEe ey
TESIGAES 9T AT | ¥ §97 BT B

4. TR A d. 34 4@ ¥ vgw TaEREe A ¥ o e T
sfieaEs (FUrs) ot fiw (TArs) & %

(A) 1-a, 2-b, 3-c, 4-d (B) 1-b, 2-d, 3-a, 4-c

(C) 1-d, 2-a, 3-b, 4-c (D) 1-c, 2-b, 3-d, 4-a

(E)  Question not attempted / Said e

102 What is the effect if one cell is connected with reverse polarity in a parallel combination circuit?
(A) Voltage become zero (B) Become open circuit
(C) Will get short circuited (D) No effect, will function normally
(E) Question not attempted

i s I B GHMGT GAE diche § ad qwiEl & 9y ST 9 ar e yEe ggdar & 7

(A) dieest g & o § (B) &9+ |fbe =«
(C) 9 gfthe = s (D) i3 Y9G F&i, T €9 § & O
(E) erafa wed
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103 A series motor is also called universal motor because
(A) Series motor will run below rated speed
(B) Series motor will run above rated speed
(C) Series motor will run either DC or AC source
(D) Series motor is used in all kind of applications
(E) Question not attempted
I WX & gaed Jel e W wer s & 7
(A) Erlr HreT orgea T § &9 9T e @
(B) €9 HieX owa Ta ¥ TE1ET 9 @l @
(C) drw 9T a1 @ S/ |9 9T g@dl § a1 uE ' 9
(D) &t =X @1 IuEn g aftRafaat § fear s ®

(E) organa ued

104 A zero watt incandescent lamp consumes power of
(A) zero watt B) 5-10W
(C) 10-20W (D) Above 20 W

(E) Question not attempted
I A BT AIET AU fepael foTell 1 @U@ # 7

(A) = @ (B) 5-10 W
(C) 10-20 W (D) 20 W 7 st
(E) &gania e
105 Which type of joint is used for extending the length of conductor in overhead lines?
(A) Scarfed joint (B) Aerial tap joint
(C) Britannia “T” joint (D) Western Union joint

(E) Question not attempted

FaTEs @EAl (SUL TEF) F GAES B @G Bl GG b [ [6F YBK % A5 BT SUANT HAT S

¥?

(A) @S SEe (B) uftw ¥ sige
(C) fofrr & wige (D) Fw ghmae wige
(E) argar@ usd

106 Which circuit breaker is installed along with wiring circuit against leakage current protection?
e Hie ¥ gL & foe aEfor |fbe & g S-ar |ihe bt @il fear ST & 7
(A) OCB (B) MCB
(C) MCCB (D) ELCB
(E) Question not attempted / @@ ¥ed

107 The quantity under measurement is called
(A) Indicators (B) Controllers
(C) Actuators (D) Measurand
(E) Question not attempted
& it &1 711 51 @1 ¥, 9% R HEAn & ¢

(A) Hehaw (B) frdse
(C) wa® (D) #is
(E) erafa ued
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108 Name the symbol used in circuit diagram

(A) Fuse (B) Earth point
(C) Circuit breaker (D) Link

(E) Question not attempted

Tfhe AU H SUAN B A 39 Wdld 1 A T & 7

(A) s (B) @ uige
(C) wffe s (D) fi=®
(E) orgaia 9ed
109 When a diode is in forward bias, the direction of arrow represents the direction of
(A) N type material (B) P type material
(C) Conventional current flow (D) PN junction

(E) Question not attempted

Y Uh TS AU AT B BT ¥, A qIC @l [G9m, 39 o fhger fgem @i gorir &7

(A) TA-ZEY G (B) dr—=ry gl
(C) urtale o yaE (D) WA ses™
(E) omana 9s

110 Calculate the voltage regulation in percentage of the transformer if the no load voltage is 240 volt
and full load voltage is 220 volt.

afy g "R dieet 240 diee ¥ &l ol ¥R diees 220 diee ¥, dF ZiEwHET & dees Fraser gl §

T BT
(A) 7.2 % (B) 83 %
(C) 871 % (D) 9.09 %

(E) Question not attempted / iaRa Wed

111 Which rule is applied to find the direction of magnetic fields in a solenoid coil?
(A) Cork screw rule (B) Right hand palm rule
(C) Flemings left hand rule (D) Flemings right hand rule
(E) Question not attempted

dieHizs ol o gaeE & @l e w9 w6 faw wE-ar faw an fean s g7

(A) wih & M (B) =i w19 @ w9« &1 fram
(C) il %1 9T¢ &1 @ e (D) WRRT %1 alfed &9 &1 |
(E) ergafa wed
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112 In the following statements AC or DC current is discussed.
Select the option with most appropriate pair of statement and type of current.
1.  Safe to transfer over longer city distances and can provide more power.
2 Rotating magnet along the wire.
3. The frequency of current is zero.
4. It reverses its direction while flowing in a CIrcult
reieRa e} & AC a1 DC ara @ w4 T
ﬁwaﬂtwﬁmaﬁw&mmwﬁﬁraﬁﬁwwwﬁl
1. 9T @ @& g0 J% WA & fog e ot oifues fasell wem &t w&ar ¥
2. AR % oTfey gA @ g |
3. oI @ egha 9w |
4. %qﬁqaﬁwrg—:‘@rﬁwmﬁwmém%l
(A) 1-AC, 2-DC, 3-DC, 4-AC (B) 1-AC, 2-
(C) 1-DC, 2-DC, 3-AC, 4-DC (D) 1-DC, 2-
(E) Question not attempted / Tafta 4s

113 In a R-L parallel circuit,

(A) the voltage across resistor (Eg) is greater than inductor (E ).

(B) the voltage across resistor (E is less than inductor (E; ).

(C) the voltage across resistor (EP\ and inductor (E, ) are the same and their sum is less than
the supply voltage E.

(D) the voltage across resistor (Eg) and inductor (E;) are the same and equal to the supply
voltage E.

(E)  Question not attempted

R-L @9MiaT

(A) W(E)Wﬁmwmﬁaﬁﬂ@)@raﬁﬁ%l

(B) W(ER)WWWWW(E)ﬁW%I

(C) W(ER)@TWWW(E)ﬁaﬁéﬁw%mmlﬁva@aﬁéﬁtﬁm%l

(D) W(ER)@TWWW(EL)ﬁMW@TWWEﬁsW%

AC, 3-DC, 4-AC
AC, 3-AC, 4-AC

(E) aorgafd usd
114 What is Jagat Siromani Temple famous for?
(A) Marble statue of Lord Krishna (B) Black stone statue of Lord Krishna
(C) Red stone statue of Lord Krishna (D) Silver statue of Lord Krishna
(E) Question not attempted
EACEERGI Hﬁﬂ?ﬁaﬁr IS %a%‘?r . - .
(A) e HO B FEE (B) ST o T
(C) *a™ F1 & & T B g (D) T FT @ AT B R
(E) orgaita e
115 Match the following appropriately :
Folk God Fair
a Jasnathji 1.  Revasa (Sikar)
b.  Sheetla Mata 2. Chaksu (Jaipur)
c.  Jambhoji 3. Mukam (Nokha)
d.  Jeen Mata 4.  Katariasar (Bikaner)
SUYH g gETad B |
<& A
a. gAY S 1. Emar (@)
b.  sfidar A 2. Ty (SEYR)
R | | 3. g&M ()
d. o1 = 4.  HrAEET (@HET)
(A) a-4, b-2, c¢-3, d-1 (B) a-1, b-2, c-3, d-4
(C) a-2, b-1, c-4, d-3 (D) a-3, b-4, c-1, d-2

(E) Question not attempted / gaid g
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116 Which of the following is not the composition on ‘music’ by Rana Kumbha?

(A) Sudha Prabandh (B) Sangeet Raj
(C) Sangeet Meemansa (D) Ekling Mahatmya
(E) Question not attempted

Freffias & & oM T A A B T W A B

(A) s vaH (B) i Tt
(C) &iia dmmEr (D) umfeT AR
(E) orgaRia usd

117 Which river is not a tributary of Luni River?
(A) Sagi River (B) Jawai River
(C) Chap River (D) Sukhdi River

(E) Question not attempted

A T T T A w7

(A) §rir =& (B) =@ &
(C) = 7 (D) g@sr &
(E) ergara wed
118 Which of the following is also known as Kanwarsen Lift Canal?
(A) Sahwa Lift Canal (B) Dr. Karni Lift Canal
(C) Bikaner - Lunkaransar Lift Canal (D) Gajner Lift Canal

(E) Question not attempted
frefafeaa & o feg daws fowe Fam o wer oian &7

(A) arEar fawe FHm (B) =T, %Yl fowe
(C) WY — TERHUET e B (D) TR fawe &
(E) ergafia 9ed

119 Where is the headquarter of North-Western Railways located at?
(A) Alwar (B) Kota
(C) Jaipur (D) Ajmer

(E) Question not attempted
Iar-ufyeHt (@S H1 JEAd HEl 7

(A) Eax (B) @l
(C) sy (D) 3T
(E) organa usd
120 Rajasthan State Biodiversity Board was established in the year
TR Sa fafquar 91 & ad H o forar T
(A) 2002 (B) 2005
(C) 2007 (D) 2010

(E) Question not attempted / gaid g
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SPACE FOR ROUGH WORK | 1% &/ % fow &=

TTY 9@ H &l qiqal & — el Fid ST fEdi qid, q31er qHiT oY qiien we i d gd qirerdt
ITT UFE BT GIAT Fhoar diers d GraT, ghere @ G gtd @t e T8 &Y | diee g
I TA% B {7 FiT @l o191 I 497 &Y, 1&g Fhd & 9 Tid & & oisT d q18 & aragrir
yd® ST HT GEmelt @ G | gt fZdra gfa st e ary @ araT
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